EIHIUR T AT E#

=F 1

[E%15]

I AOE322025~2070 <%REAME: 5017 5 (20254 ) ~5F1524 (20704 ) >

KIEDI+

AMICETHZAODTRKRZHZE
TLO . AOICEY 2THRDORH

FHEL. SEREBEIREEX -SEMEE (L. 20204E36.0% M5
DAREANODHFERLEEZTT . 2070459.6%F T LR
-5F05(2023) EDEFHEHRBEEEIL,

0 WEFTOAODHER. 24

2070 D ARAIZ1537TA
(20204 : 48,444 AD#331.7%IZiF4)

£E1.20, FER1.14[2*xL T0.84

X->TL,

I WWETHOFRRE

(D BigT REFEOEBE (HiEES3Y)
MABIEDERICH T, CNFETHELTEIBTS
HIEFERIE. BODORELZE . ZEMICFNMEELEE
T52ET. KYBRWEYITSARDERERIET .

. BiggRzEEGMgEECI V) E. BER.ADE

F5EYHNLTEHESL IUE

QR EEREAADEH

BEHEGRHEERDE L
-5 F012(2030) E(21.3612748Y | LIRS #EER I B EIRE

L MIEDEIEZ

=4#152(2070) E£N# A O :16,052 A
OHEBEDHE
20BN DAIRXETOUHEBEAWNET HERTE
=4#152(2070) ENFAO 19,017 A
BEtEGHERLESBHOHE
LiE2HAHKICHET SHERE

=>4H152(2070) ED# A A :20,039 A

FEIHILKHH AR AR ES

1 /s FnERLE
MAHSELDEILE

~HiEER-
SERFELTVSEXRDEISG
GEABBIZIROTVDEEME)
40.2% (R5) = 443%(R11)
S ABRH AR

AB3A(R5) = AB83A(RI11)

1-1 Mg FEEES N5 EEDREL
OEMKEEDIRE
QEILEDIRM I FF FMHL
OREMREF

604BAM(R5) = 1,264@AM(R11)
OMEE—ANE-YORERBREE
59,230FH (R5) = 59,873FH (R11)
OBHBEZEEANTEHCHRAREER
478 A (R4) = T700A(R11)

1-2 ADFENEED KN HSHhigDElE
DS DIRE

QFbDBARIE
QBEAARDXDHELHREY—ERADRA L
OFEMBAT AN A

1,747,115 A (R5) = 2,282,000 (R11)
O SBEEMR M EEE

74475FM (R5) = 407,905FM (R11)

KBE <EHEHEAME : SF074F (20254F) ~ESF1114E (20294F) >

? JFETHLYTL
FEDBIE

=RE B 8-

LA GIEHF RS

924 A (R1~R5) = 800A(R7~R11)
OEFRAEFRITHELTLS IR EO)EUA
91.5% (R5) = 95.0%(R11)
OERAFICHEL TS ERDEE
949% (R5) = 95.0%(R11)

2-1 #EE-HE-FETCOREE
MEZ HIRIBEE
DRDLTFBETTEREEDIW
QRHRBRICHRAIRERBRDXIE
OHMME-REF-CELEDFHAEETRREE
77.7% (R5) = 80.0% (R11)
OB T HERDHLAMBEEDEE
80.7% (R5) = 82.8%(R11)
2-2 REEHSICELDBREZADED
<Y
OEREBORTE
O FERIFELEDCEFR ATLA LR (HEE
RESHEE) ULDEFDEE
456% (R5) = 55.6% (R11)
CHBZBHEBRTWARE - £ENEIE
80.8% (R5) = 85.0% (R11)

3/5&%7%%75%\%91

BETESAFLDEIE

=#{E B %=
O AO1,000 N E-UDI5EMN 564 ETDRS
ETORTERMTH., FHERQ

241(R5) = 197(R11)
O RFY (MIEE) IS MLTWSTROEE
30.2%(R5) = 32.4%(R11)

3-1 BEZERLUNLEFTTEIEEIY
DEEEDOY D HEE
OEFEETBRELTE

51.0% (R5) = 51.0%(R11)
OMNAREZEEF1EZITTLNVSTEREDEE
405% (R5) = 50.3% (R11)
3-2 LN ERTESHHENDER
DEREXIEDORE

QLRI LDELDIY
ONERTEEZITTICEFEL TIN5 D
BRETCOESHEDNDEE

95.7%(R5) = 97.0% (R11)
OffLEEI DT RFEIFAEDMAEE
1,461 A (R5) = 1526 A (R11)
3-3 DEEBITEMIBLLNTEEEEIWY
DEEFEDHHE

QARR—Y D IRE
OHEFEICHYHATHWATRDEIS
28.7% (R5) = 36.3% (R11)
OARAR—YEHBLEHEDEE

255%(R5) = 32.4%(R11)

4 |=iFe ThiE
F=EDAEILE

=BEBE-

OTALERBIAER(EBN\R . FEE
B — BT RIERENARE
130,356 A (R5) = 165,700 A (R11)

& AO1,000 A L=V D BEEHFEEHE
284 (R5) = 23 (R11)

4-1 BRETERLLYOTLELDIY
®%‘Bﬁi¥1ﬁ*0)¢’ﬁa_

@<«$, Eﬁb\%ﬁﬂ&i%’j‘(um&iﬁ
O#EREER GERR. 2F. HEKER. BRESD) D
i B BE

57.0% (R5) = 57.0%(R11)
ORAZEEAE~NDER/N\RFIHERK
20222 A (R5) = 31,025 A (R11)
OB XK AARE

024B#% (R5) = 110%E&% (R11)
4-2 RIDRLICELEHRBORE
@ﬂi/ﬁi‘ﬁi—to)ﬁ%
QlikF-RREASDOREK

QM- R EREDHHE
OHFREICETA2EHBHH

2314 (R5) = 2314 (R11)
OUWHETDEENRARA(CO2) HEHE
643Ft-CO2(R5) = 477Ft-CO2(R11)
O AO1,000A &=V DFIEILEREN4%k
7% (R5) = 54 (R11)




